# In Out A) 0 A) 5 B) 1 B) 0

## Washington County Corrections Facility

The Inmates Held In The Washington County Corrections Facility On This 6<sup>th</sup> Day Of October, 2022

	Inmates by Facility: WCSO: 42 D&E: 0 Other: 0 TOTAL: 42									
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date			
1	Davis, Michael J. WCSO / Cass Co Hold	CCW, DUS, Poss. Controlled Substance, Poss. of Money During Drug Transaction, Poss. of Weapon by Prohibited Person, Poss. of Weapon During Drug Transaction, Poss. w/ Intent to Deliver, <b>Cass Co</b> <b>Warrant-</b> FTA	02-09-22 2059	WCSO 10-11-22	10-13-80		\$300,000.00 10% \$30,000.00 Cass Co- \$2,500.00 PR Bond			
2	Andrade-Caniglia, Fernando E. WCSO	Warrant- 1 <sup>st</sup> Degree Sexual Assault, N/C with Victim or Minors	08-29-22 1342	WCSO 10-19-22	09-12-96	X X	\$180,000.00 10% \$18,000.00			
3	Wierson, Derek E. <b>BPD</b>	CCW, Poss. Controlled Substance w/ Intent to Deliver, Poss. of Firearm by Prohibited Person, Poss. of Firearm During Drug Transaction	07-11-22 2331	WCSO 11-22-22	01-19-99		\$180,000.00 10% \$18,000.00			
4	Schroeder, Rose M. WCSO	Obstruction of Court Order	09-13-22 0935	WCSO 11-22-22	08-29-85		\$150,000.00 10% \$15,000.00			
5	Asay, Anthony R. <b>BPD</b>	2 <sup>nd</sup> Degree Assault, 3 <sup>rd</sup> Degree Assault, DUR, Poss. of Deadly Weapon by Prohibited Person, Use of Weapon to Commit Felony, <b>N/C Victim</b>	08-11-22 2159	WCSO 10-05-22	12-30-90	X X	\$100,000.00 10% \$10,000.00			
6	Elliott, Jamari T. <b>BPD</b>	CCW, Poss. Controlled Substance w/ Intent to Deliver, Poss. of Firearm During Drug Transaction	07-11-22 2335	WCSO 11-01-22	04-01-98		\$85,000.00 10% \$8,500.00			
7	Price, Travis W. <b>BPD</b>	Criminal Mischief, Terroristic Threats, Resisting Officer, Disturbing the Peace x2, N/C Victims	07-18-22 2338	WCSO 10-11-22	02-10-92	X X	\$75,000.00 10% \$7,500.00			
8	Ward, Gary G. WCSO	Warrant- DUI 4 <sup>th</sup>	04-28-22 1049	WCSO 10-18-22	02-05-66		\$40,000.00 10% \$4,000.00			
9	Jensen, Jeremy D. WCSO	3 <sup>rd</sup> Degree Assault, Strangulation, Terroristic Threats, Unauthorized Use of Motor Vehicle, N/C Victim	09-04-22 1759	WCSO 10-11-22	12-19-80	X X	\$30,000.00 10% \$3,000.00			
10	Huppert, Joseph G. WCSO / Dakota Co Hold	Theft by Receiving, <b>Dakota Co</b> <b>Warrant-</b> FTA for Pay Card	06-28-22 0913	WCSO 10-18-22	06-27-93		\$20,000.00 10% \$2,000.00 <b>Dakota Co-</b> \$102.00 Waiver			
11	Casey, Austin D. <b>WCSO</b>	Warrant- FTA for Arraignment	07-27-22 0413	WCSO 11-22-22	03-09-93		\$12,000.00 10% \$1,200.00			
12	Manzer, Garrett R. WCSO	Warrant- Poss. Controlled Substance	09-22-22 2109	WCSO 11-19-22	03-05-81		\$8,000.00 10% \$800.00			

Inmates by Facility: WCSO: 42 D&E: 0 Other: 0 TOTAL: 42

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
13	Allen, Andrew J. WCSO	<b>Warrant-</b> Criminal Mischief x7, Disturbing the Peace	08-26-22 1723	WCSO 10-19-22	05-20-82		\$7,500.00 10% \$750.00
14	Denney, Danielle E. WCSO	<b>Warrant-</b> Forgery, Fraud Impersonation, Theft by Unlawful Taking	10-05-22 2050	WCSO	01-19-81		NO BOND
15	Gutierrez, Kevin C. WCSO / Douglas Co Hold	Child Abuse x2, DUR, Flight to Avoid, Improper Vehicle Lighting, No Insurance, Poss. Controlled Substance, Willful Reckless Driving, <b>Douglas Co Warrant</b> - FTA for Drug Court, <b>N/C Victim</b>	08-12-22 2153	WCSO 11-01-22	01-20-96	X X	\$45,000.00 10% \$4,500.00 Douglas Co- NO BOND
16	Alonzo-Perez, Santiago WCSO / Dakota Co Hold	DUI 3 <sup>rd</sup> , False Reporting, <b>Dakota Co Warrant-</b> FTA for Entry of Plea Taking, <b>Warrant-</b> FTA When on Bail	08-28-22 0325	WCSO 10-18-22	07-31-79		\$25,000.00 10% \$2,500.00 Dakota Co- NO BOND
17	Reynolds, Patrick L. BPD / Pott Co Hold	<b>Pott Co Warrant-</b> FFJ– Parole Violation	10-02-22 1616	WCSO	04-23-74		Pott Co- NO BOND
18	Maffia, Craig S. <b>BPD / Denton TX Hold</b>	<b>Denton TX Warrant-</b> FFJ for FTA on DUI 3 <sup>rd</sup>	09-26-22 1710	WCSO	09-08-62		Denton TX- NO BOND
19	McCormick, Tyler J. WCSO / Sentenced	DUI 2 <sup>nd</sup>	09-28-22 0937	WCSO	08-19-87		<b>Release Date</b> 10-21-22 @ 1700
20	Keller, Joshua M. WCSO / Sentenced	Poss. Controlled Substance	09-28-22 0830	WCSO	12-13-84		<b>Release Date</b> 10-24-22 @ 0800
21	Munger, Cooper M. WCSO / Sentenced	Probation Violation	05-31-22 1004	WCSO	02-14-93		<b>Release Date</b> 11-08-22 @ 0800
22	Jordan, Syles J. WCSO / Sentenced	Bond Revocation	05-31-22 1115	WCSO	01-18-01		<b>Release Date</b> 11-27-22 @ 0800
23	Vance, Jesse J. WCSO / Sentenced	Bond Revocation	08-01-22 1355	WCSO	12-25-02		<b>Release Date</b> 11-28-22 @ 0800
24	Moss, Tyler J. WCSO / Sentenced	Criminal Impersonation, Poss. Controlled Substance	09-06-22 1516	WCSO	02-23-97		<b>Release Date</b> 12-04-22 @ 0800

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
25	Wrubel, Jeffrey A. WCSO / Sentenced	DUI 3 <sup>rd</sup>	09-23-22 0900	WCSO	08-26-69		<b>Release Date</b> 12-07-22 @ 0800
26	Wiese, William P. WCSO / Sentenced	Theft by Unlawful Taking	06-20-22 1245	WCSO	06-15-87		<b>Release Date</b> 12-09-22 @ 0800
27	Huhnerkopf, Alan L. WCSO / Sentenced	Poss. Controlled Substance	07-26-22 0931	WCSO	01-30-83		<b>Release Date</b> 12-15-22 @ 0800
28	Teneyck, Lyle W. WCSO / Sentenced	DUI 3 <sup>rd</sup>	09-28-22 0900	WCSO	12-24-81		<b>Release Date</b> 03-03-23 @ 0800
29	Erickson, Zachary M. WCSO / Sentenced	Bond Revocation	05-24-22 1113	WCSO	07-11-72		<b>Release Date</b> 06-07-23 @ 0800
30	Miller, Timothy P. <b>Burt Co</b>	<b>Burt Co-</b> 3 <sup>rd</sup> Degree Assault, Protection Order Violation, Stalking, Trespassing, N/C Victim	08-18-22 0703	WCSO 10-06-22	10-20-79	X X	\$500,000.00 10% \$50,000.00
31	Skinner, Samantha M. <b>Burt Co</b>	<b>Burt Co-</b> Assault on Officer, DUI, Obstructing Police, Terroristic Threats, N/C Victims	08-15-22 1200	WCSO 10-06-22	12-04-91	X X	\$200,000.00 10% \$20,000.00
32	Robinson, Victor V. <b>Burt Co</b>	<b>Burt Co-</b> Poss. Controlled Substance x2, Refusal to Submit Chem Test, DUI	09-18-22 0314	WCSO 10-19-22	05-01-53		\$30,000.00 10% \$3,000.00
33	Bird, Jo-Leah E. <b>Burt Co</b>	<b>Burt Co-</b> DUI Drugs, Poss. Controlled Substance	09-24-22 0102	WCSO 10-19-22	11-09-90		\$25,000.00 10% \$2,500.00
34	Grooms, Michael B. <b>Burt Co</b>	Burt Co- 3 <sup>rd</sup> Degree Domestic Assault, N/C Victim	09-23-22 0902	WCSO 11-01-22	11-02-83	X X	\$20,000.00 10% \$2,000.00
35	Grant, Austin J. Burt Co / Dakota Co Hold	<b>Burt Co–</b> DUR, <b>Dakota Co Warrant-</b> FTA on Paycard	10-01-22 1926	WCSO	07-07-89		Burt Co – Sent 5 Days Dakota Co - \$651.00 Cash
36	Hoelting, Thomas J. Cuming Co / Sentenced	<b>Cuming Co-</b> Attempt Class 4 Felony, Driving Without Ignition Interlock	06-02-22 1200	WCSO	11-18-80		<b>Release Date</b> 12-05-22 @ 0800

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Cronin, Jasmine J. Gage Co	<b>Gage Co–</b> Poss. Controlled Substance, Poss. Marijuana Less Than 1 oz, Poss. Marijuana w/ Intent to Deliver, Poss. Narcotic Equipment	09-16-22 1209	WCSO 10-28-22	04-12-94		\$25,000.00 10% \$2,500.00
38	Hernandez, Amber L. Gage Co	<b>Gage Co–</b> Poss. Marijuana w/ Intent to Deliver	09-16-22 1249	WCSO 10-20-22	10-17-78		\$7,500.00 10% \$750.00
39	Kudron, Jeremy M. Otoe Co	<b>Otoe Co-</b> 2 <sup>nd</sup> Degree False Imprisonment, 3 <sup>rd</sup> Degree Sexual Assault, Burglary, Terroristic Threats	06-17-22 1441	WCSO	01-27-77		\$250,000.00 10% \$25,000.00
40	Bohlen, Cristine A. Otoe Co	<b>Otoe Co-</b> Child Abuse, Use of Deadly Weapon	04-26-22 1348	WCSO 10-24-22	05-01-78		\$20,000.00 10% \$2,000.00
41	Sovereign, Kelli J. Otoe Co / Sentenced	Otoe Co- Poss. Controlled Substance	09-22-22 1120	WCSO	11-21-71		Release Date 11-30-22
42	Hillard, Robert S. Pawnee Co / Gage Co Hold	<b>Pawnee Co-</b> Bond Revocation, <b>Gage Co</b> <b>Warrant-</b> FTA	06-07-22 1224	WCSO 10-26-22	12-19-71		Pawnee Co- \$15,000.00 10% \$1,500.00 Gage Co- \$75,000.00 10% \$7,500.00
43							
44							
45							
46							
47							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
48							
49							
50							
51							
52							
53							
54							
55							
56							
57							
58							
59							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
59							
60							
61							
62							
63							
64							
65							
66							
67							
68							
69							

Signed: